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12m = 1200 cm, 7m25 cm = 725 cm
ol 1200 x 725 = 870000( cm?) = 87(m?)
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 4km? = 400 ha = 40000 a = 4000000 m>
(2) 5000000 m? = 50000 a = 500 ha = 5 km?
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HE D 014
HE T 2030000
HE D 20300
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1km? = 100 ha = 10000a = 1000000 m?
(1) 14a = 1400m? = 0.14 ha
(2) 20.3km? = 2030000 m? = 20300a = 203 ha




® 300a = 3m?
@2030 m? =20.3a

® 770a="T7ha
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@ 9km?2 = 90000 ha

@ 43ha = 4300 m?

B

@ 300a = 0.03km?
@ 9km? = 900 ha

@ 43 ha = 430000 m?
® 770a = 7.7ha
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D 0.02km? @ 0.2ha 3)2000a

@ 20000 m? ® 2ha
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T 22 &9= 1AM v
@ 0.02km? = 2ha
® 2000a = 20 ha
@ 20000 m? = 200a = 2ha

o B,




@ 540g°] 10000H]+= 5.4 tJUTh.
@350 kg+4.7 t=820kg

® 570000¢g + 0.043t = 613 kg

@ 5kg°] 100081 5t Yt

® 420kg 9] 100 v 42t YU Th

@350kg + 4.7t = 350 kg + 4700 kg = 5050 kg
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240 x 150 = 36000( m?) = 360a = 3.6 ha
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A O] Glolof| A w9 Yo & Myt

AR viERo| B = 3 tiZHA 9] Z o= (2004 150) x 2 =
700(m) JY .

(700 x 700) + 2 — (700 x 300) + 2

= (490000 + 2) — (210000 =+ 2)

= 245000 — 105000 = 140000( m?)

= 1400(a) = 14( ha)
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(2] Hol)= 500 x 600 + 2 = 150000( m?)
1
(2] Blol)= 150000 x 3 = 50000( m?)

wrehA], 50000 m? = 500a = 5ha YUY},




10.

9] 71017k 50m < o, T ej7Halel

=

4a = 400m? o] B2
400 + 50 x 2 = 16(m)
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36000 ha = 360 km? O] L2
360 =9x[ |+2,

9x[ =720,

[ ]=80(km)




12. =99 ZoI7F 1m32 cm §1 Az}

—

ofl

o yol= 2 em? AU 7

[
H -

[\

>
[> HEHD 1089 cm?

1m = 100cm©®]1, 1m 32cm = 132 cm ©| B2 AALZIS 9] gt

o] ol 132 + 4 = 33(cm) YUt wakA, FArzHE <]
Yol 33 x 33 = 1089( cm?) YUt}
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(7F29] o] + A=9] do])x2
Z AL
m = 100cm , 1m? = 10000 cm? YT}
7m = 700 cm,
700 = {(7F22]Z0]) + 150} x 2
(7F29] Zo]) = 350 — 150 = 200( cm)
wpabA] 2 AL o] Yol
200 x 150 = 30000 cm? = 3m?2 YU},

7+ o] Hol)= (7}22] Aol )x (A& 2] Zo])
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300m? = 3a °]|B 2

la G 25kg o] o] A4tgYch
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25 x 140 = 3500(kg) = 3.5(t) YUt
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(380 + 540) X 370 = 2 — (50 + 420) X 160 + 2

170200 — 37600 = 132600( m?) = 13.26( ha)
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= 88600 — (250 + 390) x 230 + 2

= 15000( m?)

(AR c=229] Zo])= 15000 x 2 + 150 = 200(m)
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3 AF7ke] A7} 30 kg ol2k u §F A7) RAE B kg 914 T3}

5t = 5000 kg

Attt 100 “g2Fe] FA] ¢ 30 x 100 = 3000( kg)
vl 50 AFAFO] B 1 5000 — 3000 = 2000( kg)
Bl 1 AFAke] BA 2000 + 50 = 40( kg)




AFe] 1.8 o], At
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ABAFF)X0.7 = 9 x 0.7 = 6.3(t)

)=(FA AAF)x1.8 = 5x 1.8 = 9(t)

6.3_t
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7ket 1o ol g uirol A AZs) B,
7= 200 x 120 = 24000( m?)

H=E@x160

7+ Y=8 ha = 800a = 80000 m? o] 2L
24000+ x160 = 80000

@x160 = 56000

@= 56000 + 160 = 350(m)
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(8 2 5 e 47 3)

= (4000 — 15 x 250) = 5 = 250 = 5 = 50(7H)




